PRYS 121 Marele 13, R0t

“‘/TM mx\‘ meittwm HW 1 due. Fﬁ‘ ) Mar. Z(T
\Z covv\‘)\{j&& @\‘C’L&lo #7 {9‘(’{’0‘[@ {—\V‘Q gl'b»\/'\’ Ov‘ LQE:K7

L Quiz 22 will be or Wedntsdoy, Maych, 20
D Gee course wibsite Tov detels,

Lot Time:

I\M;dw#u&t of W\Wﬁh'a freld due, 4o WlO\JMj
ch, LW

Mg field

Re P
Ou»+ o\c P“%’\

| S —

—_ ~




S
dir'n o‘F R i Ry bj RAR :

B P Ay of H@WV Wawd I Ac'n 6* LW LU
Co\r div'n é V\/\ojﬂ"o\m a\[ Poé\jt\'\)\ﬁ C\/wu\r%&)

7 F\w«ofs cuvl in Airw 6l E

CM S PYo chUk

A B :
Resulk d' wWoss I
Pmo\wft (s omobther | 9? N 0
Vectoy T
\( J
—5: Exg (i W €)wwv~‘)\€}
C ¢ lowk of tw savceV\S

D

AN AN
C(sl_‘Lo\oGJc\,\ﬂaB‘



S D

Wlw&mjrmlt of C>‘ Axs

(cl = C = ABgne
:ABL

Dir'n 4t Z (inke oy ouk zﬂt Sorfe\/\)
5 detevmine A ‘Oj another RER

B [lie rryH "‘”“’Q/ &ym
dicin of A (the fivst wectay N
e (yoss Vfofophta‘)

% &W‘ ﬁvmz,e/re aJC (‘:‘3‘/»‘[“ W % HM\*
ij are Pmalld Yo 8 [steond yestsr
M A oyoss /D)’DA&W(]{‘)

/] mwl, Pm,y{'l’g i ﬁw Al}”/h Of 2\

-
C

Kl

Right Hand |



P‘U“MVV\ ‘l'o W\O\ll‘v\j i)'é Ch&trz}, ﬂma,‘b\n?

Magnihic field @ P

B '\ N V{“P \/"Jia:wwawww
Y
720 v

r , A , , AN
C 18 & umt vector (lr( ".’l) mn Air'n o‘F {‘
BA N
r= vy

Covsrder the VoS Fyaﬂ({w-t _\7>( ?

Méﬁv\ﬂu}e: (?lxjr\\’- lﬂlr/'\\siw&

V\,\/W
v 4
Note thak B= Mo 7 vsmQ




Dirw of \/xr Is ﬁlWln /;U KHR
? 15 out of the sveen .

e
EOTJCW/ g™ rml*o f“%‘%’”

(4vvow ‘H\D> (buck. of
{”OCQM\/S @jﬁm

aWovu)

SO ~
VX = Vsm@ ot of the pgR.  Same A as B,

fom\ol@h‘, rector ecv)m ‘%f B due to o
/VLOV)NVLJ FD}mf 61/l&ul/?e/ )S i

e —

o N Gives Mag -
> N\
= M o vxr { A gt

L 41T “‘}L\ B.

0




MMWL Jro fe’zﬁx'amf S (D n ervms 01[ a ouwewj(‘
AN
V
&y 7 > j‘
I
JaY4

77% Curro~t conn ’ﬁ& BXPR‘,’{W/ &s

= 2Y
At !
Mulk, bj ] = Aéf

T o9 sl _ aq Ak
"/'R@ZZ A0 At
v
Vv

T;ﬂ solve for 29V

N



AiV;IAﬂ

72 Mallét 'H’HS 7 (/K(fl’br %'h/ W Mglj)/l
6 divh £ Al Drfive /j st. ke divm

I th”d fo current L.

Y

Ai’ -l;. ~ :/: Al SuL ‘l“/l)( )’u‘l“é @.

~L
> > A
</ TAlxr \(@
47T r?..

Biot-Savort Law — gives e W;(yw})c
Pold & gt P duy o current soquenc




Ez’h © Fives E die 4o Jud e veo()wbufeoq
Segmuit §f Tre wive. To find the pt B dwt
1o antive cwrnnd® u Hae wire, hove o Ad
I/LP ooWl’v*beth\S from ~ sequ/\;f( .

Lab # T

Lonsider 4 lboF o]c cnvyent

>
fB 1S o,(wa.% i Save A inglde. /GOP)

getstrong fivld.



N

8

i

D)

|
|

f

)

A cuvvw)( IbOP cv*ea*d G Maaw\l)\'l‘c "'lelcl

S lay do Thot Sfa bor MC‘W‘

ﬁvvxslde\f P/a,cr‘ 4 [o//w’hbn o'l& Wryw‘l\ 100,05

side 'LU* side .



T i coree Fourrud leopsd B=O ovtude
Hre léoPS//)hZ,g .

)h‘ﬂlf ﬁw/l%inj The 56}1/'})‘1&);‘7”)/‘{ to Ewu a-cM
U«F.
73 mimic “&"@ shtwﬂbm’\) e Coan w)‘vnol a 60"/ Of

Wive.



Sivetlav fo & coll th o ol Curreats 160?5

ﬂ”f OOV/Z D‘{; WIe lﬂ/ Our{\e,v{‘:[ (< [cvl(@ae o

GD[@V\-O\SA.» T‘f JV‘ﬁa]LGf c mhll‘fyyw\ /leC
freld mside s bore.

e o N T
L

N DO\ J 66FJ
[ /emj%L solevoyd .



Lob %7 = (Use a solemoid o make oo
MILFOTW W\aﬂwﬁc \%u BS 2/4Ao N I
L

~ Alace o CompasS I e cewtire,
/4”31/» & Pyau%l/LS s.t. Coprpass ]D"LS
Novtie & [s L 4o glonpsd exis

V]




es 71'0 a,()‘fjl/\ N/ Kﬁﬁt‘
CO‘W\,%({ ot [

Uce y\ofw%m, 'fo e gf \



